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QUESTION 1

What do you have to consider when you create a query with multiple structures?

A. You must use one structure in the report columns and one structure the report rows.

B. You can only use one structure without key figures in a query.

C. You can only use one structure with key figures in a query.

D. By using both the structures in the rows or in the columns you can avoid formula collision.
E. You must use a maximum of two structures.

Correct Answer: CE

QUESTION 2

Identify issue affecting query performance that you, as a Bl administrator, are responsible for.
A. Read mode

B. Web page design and Java scripting

C. Data model

D. Compression

Correct Answer: ACD

QUESTION 3

Which of the following are advantages of column tables?
A. Elimination of additional indexe

B. Elimination of parallel execution

C. Elimination of materialized aggregates

D. Higher data compression rates

Correct Answer: ACD

QUESTION 4
You create a transformation from a DataSource to a standard DataStore object.

The DataSource provides an after-image delta. Which key figure aggregation type do you select?
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A. Overwrite
B. Maximum
C. Minimum
D. Summation

Correct Answer: A

QUESTION 5

InfoProviders are technical tables joined in some way. They are constructed using fields in Bl that we call
Choose the correct answer(s).

A. Special fields.
B. Business fields.
C. Infoltems.

D. InfoObects.

Correct Answer: C
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